
  

  �

  ���� ���	
����
�   ��  ��  �  

   ��� ���� � ���������
� �� !"   #�  ��  

  �$�$$�%  �  
  

&  	� '��(�)�*�+, -./�0 	��1 �234.  
  

67� 8�� :��:;�7  

��<� =���2� ��>?: @>�/ � �A �."	 >.B C1�B �� ��D.  

 

1.  Our expenses should be reasonably related to what we make, that is our -----------.  

 a. profit  b. production 

 c. costs  d. savings   

2.  Which of the following is an association formed by workers to coordinate their needs? 

 a. cooperation  b. union  

 c. merger  d. venture  

3.  When a person buys or sells goods, stocks, and securities with risk of loss and hope for profit  

 through changes in their market value, he is ------------. 

 a. inflating  b. stabilizing 

 c. competing   d. speculating  

4.  The company conducted a survey of its new product among those who buy our products, that  

 is our ------------. 

 a. users   b. distributors 

 c. sellers  d. producers   

5.  Unemployment ------------ is a program to protect workers against complete loss of earnings  

 in the event of unemployment.  

 a. pension  b. asset 

 c. insurance   d. payment  

6.  Proper ----------- means making sure that each purchase is worth its opportunity cost. 

 a. rating b. budgeting c. aggregating d. developing   

7.  The term ---------- refers to a sustained fall in the general price level.  

 a. inflation  b. deflation   c. recession d. depression    

8.  The total amount of capital goods purchased is called --------- investment. 

 a. gross  b. output c. fiscal d. aggregate  
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9.  We give 10 percent --------- for cash payment instead of payment at a later date. 

 a. account b. discount c. supply d. exchange 

10.  The term ---------- means that one commodity is directly traded for another in the market  

 without the use of money.  

 a. consumption  b. warehouse 

 c. barter  d. market   

11.  Which of the following is used to refer to a minor recession? 

 a. depression   b. crisis 

 c. allocation  d. benchmark  

12.  You must examine the economic situation in its ----------, not just a part of it. 

 a. addition  b. endowment 

 c. reservation   d. totality  

13.  The statement that x+2y= 7 is called a(n)-----------.  

 a. equation  b. estimation 

 c. allotment   d. transfer  

14.  There is no retail sale in this shop. They only sell their products ---------. 

 a. arbitration    b. constraint 

 c. wholesale   d. utility    

15.  He --------- a large fortune by working hard in no longer than two years. 

 a. accumulated   b. exceeded 

 c. maximized  d. withdrew    
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16.  The commodity they have introduced this year does not have the required standards. 
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17. The consumption of the new substance has increased sharply in recent years due to its low 

price. 
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18.  The government has announced that we are going to have 15 percent inflation this year. 
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19.  The bank refused to give him the loan he wanted because he was not employed.  
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20.  The government stopped the rationing system because of the extra supply of the production  

 in different areas.  
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21.  The recent fluctuation in the oil price has made some companies to go bankrupt.  
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22. The government of that country is not allowed to have monopoly over any goods or services 
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23.  The figures indicate that we have had a good increase in our GNP. 
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24. The fall of our income has created a large budget deficit.  
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25. The market is going to have some equilibrium after so many ups and downs in prices.  
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One way to define the scope of economics is to say that it is the social science that deals with 

such problems. Fifty years ago such all-embracing definitions were popular. Perhaps the best 

known was Alfred Marshall's: "Economics is the study of mankind in the ordinary business of 

life." Because economic problems have certain common features, one may, by looking at them, 

arrive at a more penetrating definition.  

    The problems of economics arise out of the use of the scarce resources to satisfy unlimited 

human wants. Scarcity is inevitable and is central to economic problems.  

 

26.  Which of the following pairs of words has been as having opposite meaning in the passage? 

 a. business/resource  b. all-embracing/penetrating  

 c. inevitable/scarce  d. popular/ordinary  

27.  According to the writer what should we call a definition that says economics is the social 

science that deals with such problems? 

 a. old b. certain c. broad  d. central 

28.  Which of the following words is appropriate as a synonym for the "penetrating"? 

 a. general  b. enough 

 c. social   d. specific  
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29.  Which of the following makes it possible to arrive at more penetrating definitions of 

economics? 

 a. Economic problems have common features.  

 b. Problems arise out of the use of scarce resources. 

 c. Scarce resources are used to meet unlimited needs. 

 d. Scarcity in inevitable and is central.  

30.  Which of the following is the definition of the word inevitable?  

 a. easy to obtain and continue b. impossible to avoid or prevent  

 c. hard to explain  d. possible to solve  
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1.  Clearly money will held only when in provides services that are valued at least as highly as 

the opportunity cost of holding it.  

 

2.  The relation is a useful guide to policy because it allows us to ask how a particular growth 

target will affect the unemployment rate.   

 

3. More generally, we could argue that there is no need to separate out the two demands.  

 

4. The cyclical nature of employment has for many years been of great concern to economists.  

 

5. If workers are inherently more risk averse than their employers then they will wish to insure 

their consumption.  

   


